EARAROBEEIERT — 2 N— IBISH —F

20165118170 (k) 17EIEIH6H

m C1 #¥5%3®L (xwlw | lmEmml - |5 ) e
[AE4£] 17 :400,000  ~ 23%&:9,000”  33&:48,000” 437 :32,000H . 5 7&:24,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< < AiE :04. -3-1- . — RARK (BE)
1 gl IvLIUT "3 % 2(%)3 AR R 1 :1526) BHN
LG4 7 hT—EY B:TUFN- Sz e ]
3 | TEE 2:04.9 -5-3- . - 2 472 | HEAEER (FEH)
2(5/5 T7— MNNILFE e 56.0 (3 1/2) 5533 |08 (-3) FRILE
R:xA21=F7—X BIUEIICR BEZZY K
o N JNERE— :05. ~6-5- . — BAE— (FE)
SRR LY ED, 44 = 2(055>8 7-6-5-4 | 40.0 5 <4+529) i
R:TFyIa%I—F B:YU—ELIE— e
N i 45 | TIAES 2:05.9 1-1-1-2 | 41.3| — 3 503 | REIAE (FEH)
alglg|/Xr2TIN— 56.0 o) Gy | LEEE
R:F4—T2AHA B:T7TVII—-Ya> H—L— - JvX> - T7—LARS
= # 5 | Afi—H 2:06.7 8-8-7-5 |40.8| — 6 459 | ME (T
5 3| TLIT—=R 56.0 (5) Cy | @) Tr-zrEVar
LT RIA Y L—> BEXRFORSNY N7 7— L
= o s BEET :07. —7-8- . — ErEE (FiH)
6 4|7V bTNO-2X i B 56.0 2?67)7 6767 | 418 ! :Z;‘ ki
R:F1—T421N7h BiERy2E2X milll IEs
- a0 . A — ERER5A (EH)
P75 9% 3 | = Y A R Yy | s
LihY/ RI4T BALTII2R LA Eae]
er s 6 | FER 2:11.1 2-2-6-8 |46.2| — 8 422 | EEBAME (EIFE)
gl7|7|Fr* 02777~ 54.0 1) Cay |4 F—I¥AR Mas
Lixfagk—-5— B:x8/757— BEHEERS
@ 1—F—@&BIEf
13=zr= 8,7,2,6,5,4,1,3
Aol=5r= 8,7,6,2,5,1,4,3
30—+— (6,8),5,2,1,7,3,4
43—+ — 6,8,5,1,(2,3),4,7
[ RN
B OB 6 180H4 714K 5-6 130H B E 5-6 140H &R 1-5-6 960M
% B 6 100 1-6 Tl | | B OE 6-5 230 | | EE 6-5-1 1,810
5 1004 1-5 740
1 280M

ABICOVWTRDTEEERROODE. TR LIV,




